Reports & Templates

Why doesn't OfficePool calculate Possible

Outcomes after the first round games?

Because there are way too many possibilities for it to be worthwhile. Mathematically
speaking, you have 2 to the power

of n possible outcomes left in the tournament (where n is the number of teams left
in the tournament minus one).

So, if there are 32 teams left there would be 2.1 Billion outcomes which is why we
wait until there are 16 teams or
less (32,768 possible outcomes. A lot, but not unreasonable).
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